Utility Trailer Mfg Co—Parts Catalog

DN851 DN859
OIL SEAL OUTRUNNER OIL SEAL OUTRUNNER
EA EA
0.8 1lbs 0.1 1bs
DNSPL170X DO121069907
U-JOINT HVY DUTY SERIES SPL-170 ROOFBOW ANTI-SNAG 16GA X 3" X
EA EA
10.1 lbs 7.8 Ibs
Competetive
w Component
DO2511074-617 DO251122102
RAIL ALUM TOP H/D 52' RAIL TOP FRONT 102" ROUND
EA EA S
1510
120.0 lbs T 1.650 18.0 1lbs
2.595
Competetive Competetive
Component “7 Component
6.500
3.655 6.500
1.836
_i O v
DO251128702 DO2810093
RAIL NOSE WITH 6" RADIUS HINGE ALUM (2810093)
.50 DIAMETER
18.7 1lbs 1.2 lbs ¥ L . _tz?
- 813 N
Competetive Competetive
Component Component ] : TE i 4
TP e,
H | 1.60
il o]
| i
_ v .1;3%& ! ::LJ-—

163




Utility Trailer Mfg Co—Parts Catalog

DO2810919 D04248614
HINGE ALUM (2810919) PIN, HINGE
EA - “ EA
0.8 Ibs Q;& g 0.2 Ibs
P— — 2
Competetive Competetive /’,’5
Component ; 828 Component s /
H T Te 5*1—{ 2
i K o
N I 19
H | ‘T b
H t—3.26—
R S
DOFA30382 DOFA30783
PANEL RADIUS 9.75" (FA30382) PANEL RADIUS 5.75" (FA30783)
EA EA
20.0 lbs —" 18.0 lbs T
Competetive T (e Competetive o e
Component Component el l
~/
| . | s
| 31.81"
DOSW-38-503 DU202-G
PANEL ALUM 24 COR PPW SW-38-503 HUBCAP DUAL DYNAMICS
EA EA
25.0 lbs 1.3 lbs
Competetive
Component
DU203-P EC3250-06104

HUBCAP OIL DUAL DYNAMICS
EA
1.2 1bs

AIR BRAKE TUBING BLACK 3/8X500
RL
14.0 Ibs

E:T-N

Powering Business Worldwide

164



Utility Trailer Mfg Co—Parts Catalog

F19648

FIRESTONE AIR SPRING

FI19780

FIRESTONE AIR SPRING

FI9807

FIRESTONE AIR SPRING
EA
15.0 Ibs

F19921

FIRESTONE AIR SPRING
3235/3226

EA 1'5f10-12*\:1—x ~—9.00

13.6 1bs ‘ 5.50
7.75 21.60
65
o 2l | N s I ‘
RESTON WOUSTRAL ¥ TS CoumAY | \‘” ’j ‘ 475
i N_ Y Y
1/2-13-UNG —7! 0

F19923
FIRESTONE AIR SPRING
EA 15ﬁ10.12 T 220305
13.6 lbs s 550
r ‘ j 2250
7.40

/
V4

7 560

FI9935

FIRESTONE AIR SPRING
EA i
13.6 1bs

F19936
FIRESTONE AIR SPRING
3226
EA 157 |
13.7 lbs

9.00
Ts.snT

N
150
1/2-13-UNG - 12

HINGE ALUM 5-HOLE UNIVERSAL
EA
1.0 Ibs
¢ Ii-‘fT.mHEFERENCE—— ;50
ompetetive i Q—-—D
Component o E“ } JT; 11,
H ool g
DIAMETER (5) HOLES.




Utility Trailer Mfg Co—Parts Catalog

FRDCE-8681-1 FRDCF-3980-1
HINGE STRAP DCE-8681-1 HINGE 4 HOLE DCF-3980-1
EA EA
2.8 lbs 2.6 lbs
<
Competetive Competetive
Component Component
FRFCF-6457-901 FRRCC8431
PIN SLIDER FCF-6457-901 ROOFBOW (RCC8431 & RCF4048-1)
KT EA
24 lbs 26 lbs 884
m——
Competetive Competetive
Component Component J
|
I 1734 |
FRRCF3718 FRRCF4335-4
ROOFBOW (RCF3718) ROOFBOW (RCF4335-4)
EA EA
3.0 lbs 3.8 lbs
Competetive Competetive
Component Component

FRSTK-P30237-10

POST HAT 110" PUNCHED
EA
11.3 Ibs

Competetive
Component -f' ” “

FRSXA-0203-1

GEAR SXA-0203-1
EA
2.7 lbs

Competetive
Component

180



Utility Trailer Mfg Co—Parts Catalog

FRWCE-7812-1

PIN FOR HINGE WCE-7812-1
EA
0.3 1bs

Competetive
Component

FRWCF-3959-1

RAIL ALUM TOP F RONT FB X 102"

i .

15.6 lbs
350"

Competetive

Component 835

1.38"
FRWCF-3981-1 FRWCF-5903-901
BUTT HINGE WCF-3981-1 RAIL ALUM TOP FRONT N/S 102"
EA EA
T
0.5 Ibs 18.0 Ibs i
Competetive Competetive 250
Component Component |

—

2838

b

FRWCF-9003-2

RAIL ALUM TOP FRONT 102

FRWCF-9212-900W

PANEL ALUM 5" RAD WCF-9212-90

EA - EA
1.30"
19.0 lbs Tf _t 17.0 lbs
Competetive 250" Competetive
Component L Component
2.836"
FS14112-B FS141-B

SCREW FLOOR TORX 1/4"-20X1 1/2
M
18.0 Ibs

Generic
Component

SCREW FLOOR TORX 1/4"-20 X 1
M
12.4 lbs

Generic
Component

181



Utility Trailer Mfg Co—Parts Catalog

FS14212-B FS142-B
SCREW FLOOR TORX 1/4"-20X2 1/2 SCREW FLOOR TORX 1/4"-20 X 2
M M
27.7 lbs 22.6 lbs
Generic Generic
Component Component
FS143-B FS144-B
SCREW FLOOR TORX 1/4"-20 X 3 SCREW FLOOR TORX 1/4"-20 X 4
M M
339 Ibs 43.6 1lbs
Generic Generic
Component Component
FS145-B FS146-B

SCREW FLOOR TORX 1/4"-20 X 5

SCREW FLOOR TORX 1/4"-20 X 6

M M
53.3 1lbs 63.6 lbs
Generic Generic
Component Component
FS516212-B FS5162-B

SCREW FLOOR TORX 5/16"-18X2 1/2
M
45.8 lbs

Generic
Component

SCREW FLOOR TORX 5/16"-18 X 2
M
36.6 lbs

Generic
Component

182



Utility Trailer Mfg Co—Parts Catalog

GC00001 GC00002
GENERIC "J" MOULDING 1/4"X1 WINGPLATE UNIVERSAL
EA EA
1.3 lbs 29.0 lbs
375 —>1 |<—
Generic T Generic
Component 375 Component
5 .
|<— 1.500 4>|
GC00006 GC00007
HINGE STEEL 5-HOLE UNIVERSAL BUMPER TUBE 95-3/8" ANTI-SKID
EA EA
3.8 lbs 55.0 Ibs
Generic Generic
Component Component
GCO00010 GCO00011
END CAP RAIL ALUM RUB CASTING HINGE FIVE HOLE STEEL
EA EA
0.5 lbs 3.5 1Ibs =
Generic Generic
Component Component
GC00012 GC00014
HINGE BUTT NOTCHED ZINC PLATED POST LOGISTIC "E" X 120
EA EA =
0.6 lbs : 15.0 1lbs
. - . N
Generic 1 | Generic ] T
Component | et . Component so0n
& :‘\ N ¢
e ul
1.
12.50°
| N _+_

186



Utility Trailer Mfg Co—Parts Catalog

GCO00015 GCO00016
VENT DOOR 12" X 17.5" ALUM BRACKET FLATBED LANDING LEG
EA EA
5.6 lbs 23.3 lbs
Generic Generic
Component Component
GC00017 GC00018
POST SIDE 1-1/8X 16GA X 113-3/4 CR MEM STEEL 3" I-BEAM 101-7/8
EA EA
15.0 1lbs 24.0 1lbs
Generic Generic
Component Component
GC00019 GC00020
ALUMINUM TAPE(8 ROLLS @ 4"X50") CR MEM STEEL 4" I-BEAM 101-7/8
CS EA
50.0 Ibs 26.0 1lbs
Generic Generic
Component Component
GC00021 GC00022
CR MEM ALUMINUM 4" I-BEAM 102 POLYSUR-GRIP TAPE 1/16X3/4X100'
EA CS
14.6 1lbs 55.6 Ibs
Generic Generic
Component Component

187




Utility Trailer Mfg Co—Parts Catalog

GC00023 GC00025
PANEL ALUM PPW .063X49X110 PIGGYBACK SPRING BRAKE 30/30
EA EA
30.0 lbs 12.5 1lbs
Generic Generic
Component . Component
GC00026 GC00027
PIGGYBACK SPRING BRAKE 30/30 KIT PANEL .050X49X110 BLACK W/PVC
EA EA
13.5 1lbs 27.0 lbs
Generic Generic
Component Component g
GC00031 GC00032
DRUM VALUE 16.5 X 7 BALANCED CAST MADE IN USA SPRING BRAKE 30/30 INTRAAX 13" ROD
EA EA
105.5 lbs 20.0 1lbs
Generic Generic
Component Component
GC00033 GC00035
SPRING BRAKE 30/30 LONG STROKE OEM SEALED HOSE AIR BRAKE RUBBER 3/8"X250'
EA RL
21.1 lbs 46.0 1lbs
Generic Generic
Component Component




Utility Trailer Mfg Co—Parts Catalog

GC00036 GC00037
COILED ELECTRICAL 15' COILED ELECTRICAL ABS
EA EA
5.1 lbs 7.2 lbs
Generic Generic
Component Component
GC00038 GC00039
TRAILER CABLE (6-12,1-10) 100' TRAILER CABLE (6-12,1-10) 500'
EA EA
26.8 1lbs 140.0 lbs
Generic Generic
Component Component
GC00040 GC00041
PANEL ALUM PPW .048X49X110 PVC COATED PANEL ALUM PPW .048X49X120 PVC COATED
EA EA
26.0 1lbs 26.0 1lbs
Generic Generic
Component . Component .
GC00042 GC00043
GASKET PLYMETAL DOOR 3/4" X 14' GASKET ASSEMBLY 3/4" TRU-SEALER
EA AY
5.3 lbs 5.5 lbs
Generic Generic
Component Component




Utility Trailer Mfg Co—Parts Catalog

GC00044 GC00045
THRESHOLD PLATE W/LIP 0.1250X24X96 STEEL AST- GASKET/EXT ASSY 14' KWIK-SEAL
EA EA
83.8 Ibs 5.0 lbs
Generic Generic
Component Component
GC00047 GC00048
COILED AIR 15' (1) RED, (1) BLUE PANEL ALUM 050X49X110 POLAR WHITE
ST EA
34 lbs 25.9 lbs
Generic Generic
Component Component g
GC00049 GC00050
PANEL .120X34"X23"' SIDE SKIRT PANEL ALUM 050X49X120 POLAR WHITE
EA EA
62.0 Ibs 26.0 1lbs
Generic Generic
Component Component .
GD00600S GD00600W
PANEL RADIUS SST (00600S) PANEL ALUM 6" RAD 114" (0060
EA EA
57.0 Ibs 27.0 lbs T
Competetive Competetive o mBLoUToRE il
Component Component |

114" HEIGHT

190




Utility Trailer Mfg Co—Parts Catalog

GDO08138 GDO08206
HINGE ALUM (08138) HINGE ALUM 3 HOLE
EA EA
1.0 Ibs 1.6 Ibs
Competetive Competetive
Component Component
GDO08581 GDO08670
ROOFBOW .080 ALUM X 96W (08581) PANEL ALUM 10" RAD 110" (086
EA EA
3.6 Ibs 99.0 1lbs 1
Competetive Competetive ek i b
Component Component |
| e \
\ \
110" HEIGHT
GD09432 GD11304
POST STEEL FRONT 2.5" STL 110 PANEL ALUM 15C 050 102" (1130
EA EA
21.0 1lbs "ﬁ.'__ 250" _,| 23.0 1lbs
Competetive T Competetive
Component 2.50 " Component
! 5.00"
GD11305 GD13646
PANEL 16C 050 110" (11305) PP BRACKET LANDING LEG (13646) C/S
EA EA
26.0 1lbs 27.0 lbs
Competetive Competetive
Component Component

191




Utility Trailer Mfg Co—Parts Catalog

GD13647 GD14113
BRACKET LANDING LEG (13647) R/S ROOFBOW .080 ALUM X102W (14113)
EA EA
27.0 lbs 4.1 lbs
Competetive Competetive
Component Component
GD31800904 GD31801018
HINGE SUPER SEAL (31800904) HINGE ALUM (31801018)
EA EA
1.1 lbs 1.0 Ibs
Competetive {2 sowroE~ Competetive ;;?m”m -
Component 0= Component I G i amam
L 47;4104—].19 ‘:ﬁ% : ‘% )-—w—j-ﬁl]fﬂ
GD41203006 GD41203163
ROOF BOW ALUM RAIL TOP FRONT 102" W/6" RAD
EA EA S
4.2 lbs 13.6 1lbs
f 4.20 | 2750
Competetive Competetive
Component Component
—
1.00" il '
¥ 2245
GD42500813 GD44573
HINGE ALUM (42500813) HINGE PIN
EA EA
1.1 lbs 0.2 lbs
Competetive ﬁﬂ:u— o] Competetive
Component Wi Component
:—!'I 38 DIAMETE

192




Utility Trailer Mfg Co—Parts Catalog

GD45895 GD56866
GASKET DOOR 3/4" X 200'(45895 CR MEM STEEL 4" I BEAM 101.375
BX 1.085 EA
18.0 Ibs ] y 26.0 Ibs
Competetive Competetive
Component 1.100 Component
|4"""' 1.000 —>|
GD60308901 GD69102520
RAIL ALUM BOT P-VAN 52! PANEL ALUM 6" RAD PPW 110"
EA EA
128.0 1lbs 16.0 lbs T
Competetive Competetive tozsr o
Component 11.350 A Component L b
2,00 5.250 L*Ii'*b‘
GD69102526 GD69103003
ROOF BOW 98.63" POST STEEL 1.12" X 110" PUNC
EA EA
9.3 lbs 154 1lbs
2.750"—
Competetive I 418758 | Competetive I‘_ l
Component v&m Component 1.1:_25'-
|-1.5oo—-| ! 5.250 !
GD69103212 GD76340
RAIL TOP FRONT P-VAN W/LONG LEGS RAIL TOP FRT 102" W/10" RADIUS
EA — EA 1.350
1
17.0 1lbs 13.6 1lbs T ™ T
3.50
Competetive Competetive 2700
Component 6832 Component 4825

3.210

1.875
]

193



Utility Trailer Mfg Co—Parts Catalog

GD95573
CHANNEL 3/4" DOOR (95573)
EA
3.7 lbs '
. .806
s ,

——— 1933

GD95583

CHANNEL 3/4" DOOR (95583)
EA
3.3 Ibs

Competetive
Component

.062
RADIUS

e

GRO1-4746-76

RED LED CLR/MKR 3" SUPERNOVA LAMP THIN LINE
EA
0.1 1bs

The first name in
vehicle safety systems,

GRO1-4796-71

RED LED CLR/MKR P2 MICRONOVA LAMP W/GROMMET
EA
0.1 1bs

irna first name in

vehicle safety systoms.

GRO1-4796-73

YLW LED CLR/MRK P2 LED OVAL MICRONOVA LAMP

GRO1-4797-71

RED LED CLR/MKR MICRONOVA PC LED LAMP OVAL W/

EA EA
0.1 Ibs "‘ 0.1 Ibs ﬂ
GRO0O1-9950-81 GR12173

PLUG PIGTAIL SEALED GROTE LAMP

;

EA
0.0 1Ibs

The first name in
vehicle safety systems.

MIRROR 8" STAINLESS STEEL ROU
EA
1.4 lbs

The first name in
vehicle safety systems.

194



Utility Trailer Mfg Co—Parts Catalog

HD10007409

RAIL ALUM BOTTOM X 52'
EA
156.0 1lbs

1.866"

|

5.420"

1]

Competetive
Component

1.270"

HD1000-9668

HINGE ALUM 3 HOLE
EA
1.4 1bs

Competetive
Component

HD17-05223C-1

PANEL ALUM 6" RD 103-1/4" PP

HDTRF-50001-60

RAIL TOP FRONT W/6" RADIUS

EA EA
13.0 Ibs 16.2 Ibs
3.268 3.622
Competetive Competetive 2951
Component Component
'-1 .456 —~1
HEO0100 HE0209

BUMPER FORD - 16" TAPERED 10GA

74.0 lbs

N
H

BUMPER FREIGHTLINER - 16

76.0 lbs

i)
H

HE0209NLSQ

BUMPER FREIGHTLINER - 18

84.0 lbs

N
H

HE0209SQ

BUMPER FREIGHTLINER - 18

84.0 Ibs

i)
H

231




Utility Trailer Mfg Co—Parts Catalog

MN6AFT MOAI042138
ALUMINUM TAPE 6" X 50' (4 ROLLS/CASE) CORNER CAP UNIV.
CS EA
40.0 Ibs 2.5 lbs
Competetive
Component
MOEDO045011 MOVO07-109E
HINGE ALUM 3 HOLE W/INSERT ROOF BOW ANTI-SNAG MONON 99"
EA EA
12 Ibs [T — 8.0 Ibs
Competetive i 33 ‘ ‘ D; Competetive
Component | T Component
i | =i i \f
MSCWT-1 MSCWT-4
DECAL "WIDE TURN DECAL "WIDE TURN" W/PICTURE
PK PK
0.5 1bs 0.5 1bs
MSFS200C MW106201
CLOTH 18" X 18" FLAG/STAFF 5/PK STUD R/H BUDD-COMBO
PK EA
2.1 1lbs

321




Utility Trailer Mfg Co—Parts Catalog

SLTRA699 SM1200742301
SPRING 4 LEAF HIGH ARCH SEALER TAPE 1/16"X1/4"X200' GRY
EA RL
66.0 1lbs 0.3 lbs
SME16AWT2307 SN0112994XXX00
SEALER TAPE 1/16"X1"X150' PANEL RADIUS 063X18.25X107 PPW
RL EA
0.9 lbs 12.0 1lbs
Competetive
Component
SN04083160000 SN04-12835
STOUGHTON ALUM HINGE W/INSERT CORNER CAP UNIV.
EA EA
1.4 lbs 3.8 lbs
Competetive <= = Competetive
Component T Component
SN23066360000 SR01920
ROOF BOW 16 GA STEEL GALV POST .69" X 108.75" PUNCHED
EA EA
10.6 1lbs 13.0 1lbs
Competetive Competetive |‘_2'75°_'| 0680
Component Component g 1

I 5.500 |




Utility Trailer Mfg Co—Parts Catalog

SR06876 SRAA33C01060100
PANEL ALUM 7" RADIUS PPW HINGE THREE HOLE W/REINFOR. RIB
EA EA
11.0 1lbs T 1.6 lbs )
Competetive 1057 S Competetive / J 2 "
Component L Reond Component g\?‘w 5
T 18t \
SRAA35F00100100 SRAA35F00230100
HINGE THREE HOLE SQUARE END HINGE FOUR HOLE ALUM
EA EA
0.6 1Ibs S 1.0 Ibs
4 \ﬁ\ N
Competetive - \ ‘ Competetive
Component \; S N s Component
\\\ : e
L—
SRAA39C00120100 SRAA39C00210400
ROOFBOW 98-7/8 ROOFBOW STL X 100.38
EA EA
8.0 1lbs 9.0 1lbs
Competetive Competetive
Component Component
SRAA62C0090 SRAA63C07421900
RAIL TOP FRONT 102" ROUND POST 1.31" STL PUNCHED
EA - EA
FEl_
13.8 1lbs T 10.0 1lbs
z 1'a"
g I I 234" |
Competetive & Competetive ! ! !
Component J— _f T Component ;t_
¥ | |

357



Utility Trailer Mfg Co—Parts Catalog

SRAA65D00280100 SRAA91C005151V9
CORNER CAP UNIV. ROUND RAIL ALUM BOT E-98 X 52'
EA EA
2.0 lbs 104.0 1bs
Competetive Competetive e
Component Component 875
5.06
Lol
SRAA91C006151W3 SRAA93CO012251T5
RAIL ALUM BOT N/STYLE X 52 RAIL ALUM TOP N/STYLE X 52
EA EA
104.0 1bs 123.0 1bs
3.180
Competetive 7.eo Competetive 5570
Component Component
8.750 2.690
4.500
e le—1.710—
SU1343-B SU1399
HUBCAP TRAILER AXLE TN GREASE 100/BARREL HUB CAP CR
BR EA
95.0 Ibs 0.9 lbs

SU1399-B

HUBCAP TRAILER AXLE TP GREASE 75/BARREL
BR
94.0 lbs

SU1643

HUB CAP CR
EA
0.7 lbs

358



Utility Trailer Mfg Co—Parts Catalog

TL98006Y

REFLECTOR 3" YELLOW

TL99007R

LENS ROUND 4" RED

EA EA
0.1 1bs 0.1 1bs
Tucictte Tucitite
TM1098 TM4A1223
ROOFBOW (1098) 102" LONG BRACKET LANDING GEAR 4A1223
EA EA
3.6 Ibs 71.0 lbs
Competetive 565 Competetive
Component Component
! 27
TM4A1224L TM4A1224R
BRACKET LANDING LEG 4A1224L T/M STYLE LANDING LEG BRACKET
EA EA
36.6 Ibs 37.2 lbs
Competetive Competetive
Component Component

TMS511-1-109-2-2

RAIL TOP FRONT O-MODEL 102.38"
EA
20.1 Ibs

Competetive
Component

TMS511-1-130B

RAIL TOP FR 102.38" W/6" RAD

EA a1.225m
20.6 1lbs

Competetive

Component
6.000"

417



Utility Trailer Mfg Co—Parts Catalog

TMS514-3-152B

ROOF BOW STEEL CAMBERED 99-1/8"
EA
9.0 Ibs

Competetive
Component

TMS514-3-78B

ROOF BOW STEEL CAMBERED HAT 99-1/8
EA
6.0 Ibs

Competetive
Component

3.500"

TM515-10-61A

HINGE THREE HOLE
EA
1.2 1bs

Competetive
Component

TM515-10-73A

HINGE THREE HOLE SQUARE END
EA
1.5 1Ibs

Competetive
Component

TM515-10-78-1

HINGE ALUM (515-10-78-1)

25 DIAMETER

TM700-513-18-26

PANEL ALUM 17 CORR. POLAR WHITE

EA 4 PLAGER) EA
09 bs |1 (I ¢ o7l 27.0 1bs
I o |+ l
Competetive | Py = Competetive
Component ! o = -! Component
. 87 DIAMETER .
T gm:m ™
! 851 1
TM700-513-27-26 TM90419880112
PANEL ALUM 16C PW 700-513-27-26 POST SIDE 16 GA HAT 112"
EA EA
25.0 lbs 11.6 1lbs
‘1*2375“—“—."
Competetive Competetive t
Component Component ALy
_J \_JJL

= o ‘

418



Utility Trailer Mfg Co—Parts Catalog

TM90423490121 TM9042352621
POST ALUM SIDE ATTACHMENT 121" RAIL ALUM BOT 52'
EA : ”’""" EA
9250 |~+
5.9 Ibs F 133.0 Ibs
]
Competetive ‘ ‘ = Competetive leso
Component — Component 11375 o
T B
5 _ gy
% 0.300" E 5.500
TM9042353073 TM9042400P0117
RAIL FRONT LOWER 73" POST STEEL NOSE 14GA 116"
EA EA
10.4 1lbs 18.0 lbs
‘{4 5.000" —‘
Competetive Competetive ) [ — §
Component Component 2,43'75-
s
TMRP881K TMRP883K
PANEL ALUM O RAD PPW RP881K PANEL ALUM 6" RAD PPW RP883K
EA EA
14.0 1lbs 15.0 1lbs
154375
Competetive VARIABLE 07 MOBEL Competetive 5.00°
Component / Component RADIUE
“1715—345"—> %
1.6" "‘I
TMRP-958K-PPW TO29013-15
PANEL ALUM 6" RADIUS PPW PANEL TOP PLASTIC T/G 15" X 98
EA EA
13.5 1lbs 24.8 1lbs
Competetive GEMNYUIN,
Component

PARTS

419




Utility Trailer Mfg Co—Parts Catalog

WHO0WI100HC

DOOR ASSY WITH TRACK & BALANCER

WH9723

WHITING PULL STRAP 19

WH9723-1

PULL STRAP ASSY-32" (6"LOOP) (DOOR 96"-110")
EA
0.5 1bs

WH98W107H

DOOR, LESS TRACK AND BALANCER
EA
119.0 1bs

WHO8WI107HC-SS

DOOR W/TRACK, BALNCR & SIDESEAL

WS01200069

POST SIDE HAT 16GAX1-1/4X5X112

EA EA
214.0 1Ibs 12.8 1lbs
Competetive
Component
WS01C00059 WS02000010
PANEL ALUM 15 CORR PPW 01C00059 CROSS MEMBER 101" WIDE W/CLIPS
EA EA
24.0 1lbs 28.0 1lbs
Competetive Competetive
Component Component




Utility Trailer Mfg Co—Parts Catalog

WS04000001 WS04A00005
RAIL TOP FRONT - PLATE RAIL TOP FRT 102" W/10" RADIUS
EA EA -
21.0 lbs 19.4 lbs
Competetive Competetive
Component Component -
1.300
WS04A00211 WS07200028
RAIL TOP FRT 102" W/5" RADIU ROOFBOW ANTI-SNAG 16GAX2-5/8X99
EA —_— EA
17.4 lbs 6.8 Ibs
Competetive Competetive
Component e Component
1.300
WS211-01272 WS211091
HINGE FOUR HOLE HINGE ALUM 4-HOLE WABASH STYLE
EA EA
1.0 Ibs 1.0 Ibs T ‘ ‘ I
: f— ..[ [
Competetive Competetive | ‘ ‘ m": l
Component Component M 43 prveren
I | |
1
WSAL54111 WSE076000
HINGE ALUM (AL54111) RAIL RUB 52'
EA EA | —
1.0 Ibs 52.0 lbs
Competetive Competetive
Component Component T .
Y 4.625'
400" 1.800"
T
1 l
.750"

459




Utility Trailer Mfg Co—Parts Catalog

WSE3836258 WSLGBI1315L
RAIL ALUM BOT P & S X 52! BRACKET LEG (PILGB1315L)
EA _ EA
131.0 lbs 34.6 1lbs
1125
Competetive 0.720 l‘*} Competetive
Component Component
i
WSLGBI1315R
BRACKET LEG (PILGB1315R)
EA F
37.0 Ibs
Competetive
Component

460





